LES TRIS      
N : nombre d’enregistrements

T[N] : contient les valeurs à trier

Le tri à bulle.

Début 

  Ent i←0, j←0, x;

   Pour (i←1 jqq N-1) faire

     Pour (j←i+1 jqq N) faire
      Si (T[i] >T[j] ) alors
       

        x ← T[i] ;

        T[i] ← T[j] ;

        T[j] ← x ;

      Fsi;

     Fpour;

   Fpour;

Fin;
Le tri par insertion.

Début

   

   ent i , j, x;

   Pour (i←2 jqq N) faire
       x←T[i] ;

       j← i -1;

     Tant que (j>0) et (T[j]>x) faire

        T[j+1] ← T[j] ;

         j← j-1 ;

      Fin tant que ; 

     T[j+1] ← x ;

   Fpour ;

Fin ;

Le tri par selection.

Début

  ent i, j, indm, x ;

  Pour (i←1 jqq N-1) faire
    indm ← i ;

    Pour (j←i+1 jqq N) faire
      Si (T[indm] > T[j] ) alors

        indm ← f ;

      Fsi ;

      Si (indm≠i) alors

        x ←T[i] ;

        T[i]←T[indm];

        T[indm]←x;

      Fsi;

    Fpour;

  Fpour;

Fin;

